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Handout 16: Understanding what the question is asking you to do

	Command word
	Explanation of its meaning (in context of science exams)
	Example answer to illustrate what the command requires

	1. Calculate

	Use the numbers given in the question to work out the answer. Always show your working – marks may be awarded for the method even if the final answer is wrong.

	· Mass of N 1  14 = 14 

       (14/135)  100 = 10.37 

       Percentage of nitrogen = 10.4%



	2. Compare

	Describe (explain) the similarities and/or differences between things. Don’t just write about one.

	· Generating electricity for an immersion heater burns fossil fuels, which releases carbon dioxide into the atmosphere but solar energy doesn’t release any extra carbon dioxide. Solar energy is a renewable energy source, which also means that we are conserving fossil fuels, which are in danger of running out. Solar energy does have disadvantages because it needs the daylight and some countries don’t have enough hours of sunlight, like Scotland in the winter. This means there will be times when not enough hot water is available for the household, whereas an immersion heater can supply hot water all of the time.


	3. Complete

	Fill in the gaps. Answers should be written in the space provided, e.g. on a diagram, in spaces in a sentence or in a table.

	(a) The particles in a solid vibrate about fixed positions.
(b) The particles in a gas move at high speed in any direction.
(c) The particles in a solid are arranged in a pattern.

	4. Describe
	Recount facts, events or a process in an accurate way (explain what happened). For example, an experiment you have done. You may need to give an account of what something looked like, or what happened, e.g. a trend in some data.
	· In the beginning, dust particles and gases are pulled together by the force of gravity. As the atoms of hydrogen gas are forced together, the nuclei collide and nuclear fusion begins. The star becomes stable as the forces acting inwards and the forces acting outwards are balanced. Eventually it runs out of hydrogen, so the star starts to cool and becomes a red giant. Then it starts to shrink under its own gravity and, as the material comes closer together, the temperature rises and the star glows much brighter as a white dwarf.


	5. Evaluate

	Use the information supplied (or your own knowledge and understanding) to explain the evidence for and against and draw conclusions. This goes further than ‘compare’. 
	· This trial involved large numbers, so that would have given valid results. It was also a good trial of the general population because if poor uneducated women could make it work, it would be reliable. However, the trial was not very ethical by today’s standards because we don’t know that the women gave informed consent, and they were not told it was experimental or that there could be side effects. The trial was not well designed, as there was no placebo control group and they did not do pre-trials to find the best dose and check for side effects. I believe that this was an unethical trial.


	6. Explain

	Make something clear, or state the reasons for something happening.
The points must be linked coherently and logically. The answer should not be a simple list of reasons.
	· The molecules in the egg yolk have a ‘head’ part that dissolves in water, but a long ‘tail’ part that dissolves in oil. A large number of these molecules surround the oil droplet and so it can remain suspended in the water as an emulsion, which is stable. The egg yolk molecules act as an emulsifier.


	7. State, give, name, write down
	Only a short answer is required, e.g. a single word, phrase or sentence. (Only write the specified number of answers, or you may lose marks for any wrong examples given.)
	1. It is taken in by plants to use in photosynthesis.

2. It dissolves in the oceans.

3. It is used by marine organisms to make skeletons and shells, which fall to the bottom of the sea and eventually get covered up and compressed to make limestone.


	8. Suggest
	Apply your knowledge and under-standing to a new situation putting forward an idea tentatively, based on scientific knowledge and/or principles, rather than stating a proved fact. There may, therefore, be more than one correct answer.
	· The particles might be small enough to pass through the skin and they might be toxic inside the body.

	9. Use the information 
in the passage/ diagram/graph/
table to …

	Your answer must be based on the information given in the question. (If the information given in the question is not used, no marks will be given.)
	· Steam is made in part      D

        Oil from the plant material is vaporized in part  C

        Steam and oil vapour are condensed in part  A



(Adapted from AQA’s ‘Command Words for GCSE Sciences’      
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